B0 Tilly has £20

cO

@

She gives £540 to her friend.

Tillly now has twice as much money as

her friend.

How much money did her friend have
at the start? £1.90

n All of the following are equal to
20 x 58

Complete the missing numbers.

|0x58+x58

I8x58+58x

x58—|0x58
58 x 9 + 55|

57x20+

E Look at the scales.

How much more does a jam tart weigh
than @ muffin? 100g
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3 Abox contains some chocolate eggs.

® Harry takes 3é kg of the eggs.

® Ron takes § kg of eggs less than
Harry
® There are 3.75 kg of eggs left.

What was the mass of the eggs at
the start? 9% kg
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